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1. Sketch the graph of Vv J(ﬁ . Then
state the function’s domain and
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2. Sketch the graph of .V :l(:) . Then -
state the function’'s domain and bﬁmiﬁ” el numbe
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v=alb)”
1. The function is continuous

2. The domain is the set of all real numbers

3. The x-axis is an asymptote of the graph
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4. The range is the set of all positive numbers if a>0 and all negative numbers if a<0

Y= \/)/?C\)// B

5 The graph contains_tﬁé point (0,_@_)._ _'I;_H_é_y;—_iht_er_ée_ptmi-s_ a
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If a>0 and b>1, the function V = a(b)” represents exponential __growth

X
If a>0 and 0<b<1, the function} = a(h) represents exponential __decay
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